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Program pf_10;
{

3amava. CocCcTaBUTh IPOTpPaMMy BHYUCIEHUA CYMMbl TPEX3HAUHBX YHUCE,
B JeCATHYHOM 3anucCu KOTOPHX HET 4YeTHON LUQpH .

Pemenne. Ceurun AHTOH,
2 Kypc,
11 xmacc, mkona 38,
15.11.03, 17:10

Uses Crt;

Var
a,
tsi,
ts2,
ts3
integer;

: longint;

Function proverka (
ts
integer

: boolean;

[lpoBepka 1udps He UYETHOCTE.

}

begin
if ts mod 2 = 0
then
proverka := true
else
proverka := false;
end;
Begin
ClrScr;
S :=0;
for a := 111 to 999 do
begin
tsl := a div 100;
ts2 := a mod 100 div 10;
ts3 := a mod 100 mod 10;



42 if proverka (tsl)

43 or

44 proverka (ts2)
45 or

46 proverka (ts3)
a7 then

48 Continue

49 else

50 S :=8S + a;
51 end;

52 Writeln ('S = ', 8);
53 ReadlLn;

b4 End.
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